FERNEH A #RBLHRZESE
Special Parkmg Eqmpment-hft Traverse Geared Motor

e l,l.—-.lmﬂﬂjfﬁ%

&

~
A

E220568




{EfH % Operation Condition

ANNEEINPUT
(KW)

3P(x10)F % B

Vertical elevator

3P(x1Q) 1% B

Horizontal transferring

B B item o2kwiap | oakwier | o7skwip | 1skwiap | 22kwiep | 37KWi4P
3 1& Construction iR =% B A Fully sealed steel plate self-cooled type
H iJ& Power Supply 3@200V/220V/240V/380V/440V  1@100V/200V/220V/240V

M 0 4 Insulation CLASS E/ % B/ *kF

MOTOR |{ FAET 8] Operation Time 104 $B(MIN) 3 CONT # 30 4 £ (MIN)

Bz T Start Mode
4|zh 7 =5 Brake Mode

3QHE B Directstart
RERFEERRLINESE

19 & £ 5 Capacitor start

Low-noise DC safety brake

R
GEAR BOX

il #& Construction
i 8 Lubrication

SBRE BPRBRNNR
K EREEmE RN i) Maintenance-free type

3-speed reduction w/ alloy casting case

BREHY

Condition

1% B 15 57 Install Environment
FERE Ambient Temperature
=5 &4 Ventilating

[2 MIndoor:IP54 *k B4 Outdoor:1P55,56,66
-10°C~40C *-30C~50°C
AR - £ES « B« BEMSE Goodventilation; no steam, corrosion, or explosive fume,

RIEHF Installation

KT RIS Horizontal

% 1£#2 it % Optional Equipment

1LETREMRE (NF0mm)
2HMEMTER  FEAR

1.Location Positioning System(Extend to 90mm)
2 Manual Release System

* 4§ 4 P £ Specify Production (MLSPK.CLSPK)

WS ER Performance Specification

B & 8 Mass production

tbiE RATIO ‘ 60HZ 50HZ SUHE
AhER T ] BR @il " \ —
INPUT(KW) Noﬁu II-JJ;EET MODEL i HhE® | HhHA | HER | IR | HIEH | N FESH O.H.L
r.p.m kof.m | BRE% | rpm kof.m | B4LE% kof
. 40 | 444 CLPK22020403 | 174 | 38 | 3907 | 206 31| 4962 | 177
0.2
& W) " 6o | 50 | cLPk22020603 | 1/4 | 20 | 5192 | 205 23 | 6593 | 177
1& 75 |67.12| CLPK22020753 | 1/4 | 24 | 5906 | 205 24 | 7501 | 177
40 |40.22| CLPK22040403 | 12 | 42 | 7432 | 208 34 | 9060 | 175
Bloa| .| 50 |48.44] cLrko2040503 | 112 | 35 | s9st | 208 29 | 10912| 175
7" | e0 |50.52| cLrkozo4o603 | 12 | 28 | 10999 | 208 23 | 13.408 | 175 :
80 |79.55| MLPK40075803 | 1 | 22 | 34301 | 210 18 | 36542 | 172 1200
o7s| | 100 [10024 MLPKaoO751003| 1 | 17 | 43223 | 210 14 | 46.046 | 172 1200
kW[ %1120 [126.17| MLPK40OT51203| 1 | 14 | 54404 | 210 1 | 57057 | 172 1200
150 |150.76| MLPK400751503| 1 | 11 | 85.007 | 210 9 | 69283 | 172 1200
50 |47.13| MLPK40150503 | 2 | 36 | 35.253 | 212 0 | 8423 | 112 1200
2], |60 [60.46 MLPKaotsosos | 2 | 28 | 45224 | 212 23 | 55705 | 172 1200
« [k 7| 80 [70:55| MLPKaotsosos | 2 | 22 | ses03 | 212 % | 73204 | 172 1200
100 10024 MLPK401501003| 2 | 17 | 74979 | 212 14 | 2357 | 172 1200
#t 120 |125.07| MLPK501501208| 2 | 14 | 93852 | 212 1| 115284] 172 1600
n 40 [30.64] MLPK40220403 | 3 | 43 | 44301 | 214 3% | 53196 | 177 1200
84,348 MLPK50220853 94,267 113.195
100 |105.28] MLPK552201003 16 | 117.660 | 214 14 | 141085| 177 1600
1248 MLPK552201203 139.476 167,481
371 4p| 80 |77.62| MLPKS5370803 143.441 172.471
100 | 100.4| MLPK553701003| 5 | 16 | 185.539| 215 14 | 223.088| 178 1600
55 | 50 [50.31|MLPKe0ss0503 | 772 23 [ 140568 | 283 28 | 16879 | 236 2000
kW) *" | 70 [72.45| MLPKs0s50703 | 7V | 24 | 201.587| 283 20 | 241.904] 236 2000




FmB SR Dimension

CONNECTION

BT

[U]vIwWIN]

| BRAKEI

[ L

pc
S0V

T A L J-
LL_.U:uj; a5 == mpu; sczzov | i
l" Z L i . gane l‘+'| (FEERENN  EEER)
(Connect diagram of motor special in china)
INLT@N Rario | mopeL [k [a | b | f [e|ps|ni|i|clago|t|mefm|lt [wfu|op|n]Hg v
40 | CLPK22020403 |[305| 65 |130{154|90 | 11| 18| 55|12 (129| 42| 40| 30| 5| 22|24.5 6| 6133 [ 90| 198(M8X19
[}HZPE 50 | CLPK22020503 |(305] 65 |130(15490 [ 11|18 55| 12 |129| 42 | 40| 30| 5[ 22|24.5 6| 6 | 133 | 90| 198|M8X19
E&J 60 | CLPK22020603 |(305| 65 |130(154({90 |11 |18| 55|12 |129( 42 (40| 30| 522|245 6| 6 [ 133 | 90| 198 M8X19
75 | CLPK22020753 (305 65 |130(154{90 [ 11| 18| 55|12 |129| 42 | 40| 30| 5[ 22|24.5 6| 6 | 133 | 90| 198 |M8X19
0.5 40 | CLPK22040403 |[305| 65 |130{154|90 | 11|18 | 55|12 [129| 42| 40| 30| 5| 22|24.5 6| 6133 [ 90| 198(M8X19
E”?l 50 | CLPK22040503 |(305| 65 |130(15490 11|18 | 55|12 |129| 42| 40| 30| 522|245 6| 6 | 133 | 90| 198 |M8X19
o B0 | CLPK22040603 [305| 65 |130{154|90 | 11|18 | 55|12 [129| 42| 40| 30| 5| 22|24.5 6| 6| 133 [ 90 | 198(M8X19
80 | MLPK40075803 |(435]150|210(252|204|18 |32.5| 90 | 23 |157| 66 (65| 55| 5 | 40| 43 | 8| 12 [243.5( 162| 275| M12X28
H1P 100 | MLPK400751003 |435]150|210{252|204|18 [32.5] 90 | 23 {157| 66| 65| 55( 5 | 40| 43 | 8 | 12 |243.5( 162| 275(M12X28
%j 120 | MLPK400751203 |435{150|210|252|204| 18 |32.5| 90 | 23 |157| 66| 65| 55| 5| 40| 43 | 8 | 12 |243.5162| 275|M12X28
150 | MLPK400751503 (435]150|210(262(204| 18 [32.5) 90 | 23 |157( 66 | 65| 55| 5 | 40| 43 | 8 | 12 [243.5] 162| 275 |M12X28
50 | MLPK40150503 |(515]150)|210(252(204|18 |32.5) 90 | 23 |177| 66| 65| 55| 5| 40| 43 | 8 | 12 [243.5] 162| 275 |M12X28
) 60 | MLPK40150603 [515/150(210{252|204)|18 [32.5( 90 | 23 (177| 66| 65| 55| 5 | 40| 43 | 8 | 12 [243.5( 162| 275 |M12X28
:'E 80 | MLPK40150803 |(515/150|210(252|204|18 |32.5| 90 | 23 |177| 66 | 65| 55| 5 | 40| 43 | 8 | 12 [243.5] 162| 275 |M12X28
KW | 100 | MLPK401501003 [515]150(210]|252|204| 18 [32.5( 90 | 23 [177| 66 | 65| 55| 5| 40| 43 | 8 | 12 [243.5 162| 275 |M12X28
120 | MLPK 501501203 [540| 160|230{283|209| 18 | 37 | 100{ 23 [177| 78| 75| 65| 5| 50(53.5 9 | 14 [287.5( 190| 290 |M16X35
40 | MLPK40220403 [515/150(210{252|204)|18 [32.5( 90 | 23 [177| 66| 65| 55| 5| 40| 43 | 8 | 12 [243.5( 162| 290 |M12X28
3 60 | MLPK40220603 |(515]150|210(252|204|18 |32.5) 90 | 23 |177| 66 (65| 55| 5 | 40| 43 | 8 | 12 [243.5] 162| 290 |M12X28
HP 85 | MLPK50220853 (540]160|230(283|209(18 | 37 | 100 23 |177| 78| 75| 65| 5 | 50(53.5) 9 | 14 [287.5( 190| 290| M16X35
E\ﬁ 100 | MLPK552201003 (550|160|230(283|208|18 | 37 | 110| 23 |177| 88| 85| 75| 5 | 55| 59 | 10| 16 |287.5] 190 290 |M16X35
120 | MLPK552201203 (550|160|230(283|209|18 | 37 | 110| 23 177| 88| 85| 75| 5 [ 55| 59 | 10| 16 [287.5] 190 290 M16X35
; 60 | MLPK50370603 |(575|160|230(283|209(18 | 37 | 100/ 23 |219| 78| 75| 65| 5 | 50|53.5 9| 14 [287.5] 190| 305|M16X35
HP 80 | MLPK55370803 |[585]|160|230(283|209|18 | 37 | 110| 23 (219| 88| 85| 75| 5| 55| 59 | 10 | 16 |287.5( 190| 305(M16X35
o 100 | MLPK553701003 |585|160(230|283|209|18 | 37 | 110( 23 |219| 88| 85| 75| 5| 55| 59 |10 | 16 [287.5] 190| 305|M16X35
Lg 50 | MLPK 60550503 |(715/195|270(335/253|22 | 43 | 140| 28 |234| 111(108{100( 5 [ 60| 64 | 11| 18 [ 337 [ 222| 345|M20X40
55KW | 70 | MLPK60550703 |(715(195(270|335(253|22 | 43 [ 140| 28 [234|111{108[{100] 5 | 60| 64 | 11| 18 | 337 | 222| 345|M20X40




CLPK---I/MLPK---1ZKkEH 3L 145E% Performance Chart

NO. = FRES 0.2kw 2.2kw
ITEM MODEL CLPK22 020 50 3 -I MLPK40 220 60 3 -I

01 | 4B/t & Phase/ Pole 3h-4P

02 | FiEHRE Volt 380V (A LLIE EEEE Voltage could be designated.)
03 | FEIE Hz 50

04 | FAEFR T Amp 0.85 5.9

05 ﬁ}iﬁ%ﬁji Min S2 104Min

06 | %R Class E

07 | IFEIRE | Condition Temp. -30~50°C

08 | BREERE | Condition Humidity 100%

09  #BHirE Altitude <1000M

10 | HlzhA Brake % 4 41| ZhASafety brake type

11 | #lzh# 77 |Brake Torque(kg-m) 0.25 3.0

12 | #IZhtbZ| Brake Ratio 180% 180%

13 | &|ZhEFjE)|  Brake Time 0.030~0.040sec 0.030~0.040sec
14 | &Iz JE Brake Volt 90DC/V

15 | EEBF Lubrication X AM Permanent

16 | jAEHZE Lubricant S460(55 kg Shell lubricants)

17 | B & L Ratio 1/ 40/50/60 60/85

18 | EBHLEERE r/min 1380 1420

19 | H 148 71 | Out.Torque (kgf- m) 4.962/5.833/6.593 81.718/110.47
20 | HAfrE  O.H.L(kgf-m) 200 1400

21 | RIEFH Mounted JEE FE3% 2 Horizontal foot mounted

22 | Ak &4 Waterproof PripE L IPE7

23 | FEE IR Noise < 58 dB/0.6m

24 | EREH Condition Z4h ~ BA indoor; outdoor

25 | i A & Lasting 154-10/H 15 Years-10 Times/Day

HEAREREEEETE  BAR{TIEH - The above data is subject to change without further notice. B : & 7 #!Mass Production

(9)

(K)

i

UVW=

380V/50HZ /
=
| a
O = | N N Lo
=i B E R~ Dimension
g“g#gﬁ’ RATIO MODEL klal|lb|f|lelos|b| i]lec|alol 1 |he|m d%ﬁ t lwlulv| p | n|z
02kw | 40 | CLPK22020403-1[370| 65 |130[152| 00 | 11 | 18 | 55 |12.5] 45 | 42 [ 40 | 30 | 5 | 22 [2455) 6 | 6 |m8[135.5] 90
02kw | 50 |CLPK22020503-1[370| 65 |130[152| 90 | 11 | 18 | 55 |125] 45 | 42 {40 | 30 | 5 | 22 [245) 6 | 6 |m8[135.5] 90
02kw | 60 | CLPK22020603-1|370] 65 [130[152] 90 | 11 | 18 | 55 [125] 45 [ 42 [ 40 [ 30 | 5 [ 22 [245] 6 | 6 [m8[135.5] 90
22kw | 60 | MLPK40220603-1 | 540|150 210|250 202] 18 [32.5| 90 | 22 | 45 e85\ 65 | 55 | 5 | 40 | 43 | 8 | 12 [w12{ 242.5] 162|425
22kw | 85 | MLPK40220853-1 |540(150( 210|250 202| 18 |32.5| 90 | 22 | 45 |es.5| 65 | 55 | 5 | 40 | 43 | 8 | 12 |w12 2425 162|425




